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PART A: Grammar and Vocabulary -
Directions: Questions 21-26 are incomplete sentences. Beneath each sentence you will see ey L3 RN '3
four words or phrases marked (1), (2), (3), and (4). Choose the one word or phrase that best )
completes the sentence. Then mark your answer sheet. 9“ J’

1YY UV slaaxiw

21- What are those girls doing?
I think ... the table.

1) they set 2) she is set 3) they are setting 4) they setting
22- Pooya and | are going shopping with Vahid. ... are going shopping with ... .

1) We / them 2) We / him 3) He / his 4) We [ he
23- Last summer, I ... so many new things when | was in my grandparents’ house.

1) learn 2) learned 3) am learning 4) was learn

24- The number of students in each class is so high that teachers can’t pay enough ... to every single
student.
1) attention 2) position 3) explanation 4) intonation
25- “It is always amazing for me to see that book in your hand.”
“You’re right. This is actually my ... novel.”
1) express 2) interested 3) favorite 4) envelope
26- As | was running, my leg went into a small hole, and I ... my ankle painfully.
1) burned 2) weighed 3) twisted 4) imagined

PART B: Reading Comprehension

Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark the correct choice on your answer sheet.

Savannah and Charlotte worked really hard all summer to prepare for the end of
summer picnic. Savannah grew tomatoes and green peppers in her garden. Charlotte lives
on a farm, and since the spring, has been growing corn, lettuce, and grapes. A week before
the picnic both girls harvested and packed their produce. They decided that all of their hard
work deserved a reward, so they charged others for their produce. Savannah charged one
dollar for one tomato or green pepper. Charlotte charged one dollar for a head of lettuce,
fifty cents for an ear of corn, and five cents for a grape.

27- The word “harvest” is closest in meaning to ... .
1) plant 2) pick 3) produce 4) grow
28

Charlotte grew ... for the end of summer picnic.
1) tomatoes 2) corn 3) lettuce 4)both2 & 3
29- Where does Charlotte live?
1) In a desert 2) Onafarm 3) In the circus 4) On a boat
30- If you were to go to the picnic and purchase 1 tomato, 1 pepper, 2 ears of corn, and 4 grapes from
the girls, how much would it cost?
1) $2.20 2) $2.50 3) $3.20 4) $3.50
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